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%% part a

figure (1)

Gt

num=conv ([1 2], [1 -2]);

den=conv ([1 4],[1 22 120}]);

H1=120%tf (num,den) % original system

step (H1);

hold on;

H2=60xtf([1 —2],[1 22 120])

step (H2) ;

legend ('original system’, ’reduced system'’)
title (’Ql(a) Effect of pole—zero cancellation’)

%% part b

numb=conv([1:3.5], [1 =2]);

denb=conv ([1 4],[1 22 120]);
H3=480/7x tf (numb, denb) % orig function
H4=60xtf ([1 —=2],{1 22 120}])

figure (2)

olif

hold on

step (H3) ;

step (H4); % reduced system

legend ('original system’, ’reduced system’)
title (’Ql(b) Effect of pole—zero cancellation’)
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